
 
LO: To use column subtraction. 

 
Calculate the answers to the following:

1.                                                 2.                                                3.      

4.                                                 5.                                                6.      
 
 

7.                                                 8.           

Challenge: Complete the following calculations:

      9 – 2       = 25

5       –       7 = 41

Subtracting 2-Digit Numbers from 
2-Digit Numbers – without Exchanging 
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Answers
1.	 58 – 37 = 21 

2.	 66 – 21 = 45

3.	 87 - 15 = 72

4.	 88 – 67 = 21

5.	 79 – 38 = 41

6.	 85 – 24 = 61

7.	 99 – 47 = 52

8.	 97 – 62 = 35

Challenge: Complete the following calculations:

49 – 24 = 25 

58 – 17 = 41


